ohe % x o B A4

@® 2x+3-(2x-17)
@ 3x2-5x+5x-11

1
® §x2 —Tx—0.7x2



-7, 11

@ 4x3, 3x2

@ 5x, —x

® 2xy%, —xy?

@ y*, —y?






% v oA 3-8 M 220 5 Hls 1 H40] 4 WjET} 3 o]
Aog g7 Ve AL

&

‘o]

=
=

ol

@® 5(x-3)=4x-3 @ 5(x-3)=4x+3

® 5x—-3=4x-3 @ 5x-3>4x-3

® 5(x-3)>4x+3

S



oralF] o] ¥tz] 20| 40cm , HEFH Q] "Hz]20] 50 cm ¢l A A 9
orut| 7} x ¥l 3] Ws W, Slutg s} S| AGHE S48 ¢ 2 AR
Uehjoat,

&=
=%

rE






ol
oS
ol

] —6x° +3x— 1o it AFom &

S} A
T

o

7.

2 6x2, 3x, 1 o|th.

—~
__OO

A0] 24 3 o],

3

® o

@ 3x 9 A4 3 olck,



( )—(2x—1) = 4x + 3

D 2x+4 @ 2x+2 ® 6x+2

@ 6x+4 ® —6x-2




[ ]+30a-7) = %a—l, i(b—12)+|:]: 3b—7 2 o, {1 7o
Soi2 264 a} b o] A0 §2 Falelet,

> L
=%



2
—— -x

-5 oA
o, a+b+c 2 &

X

A
=

L,
__oo

o}

10.

2

St ?

.ZF_

o
=

5}
=

otn

c



11.

=

oo

2
6

Mo

& A7

3y
® (x-3)+3=-3x-9

® x+2+5:gx

@ 3+x+y+2=
3 .2 15

=l w

4 5 8

+

N <



12.

€3

gy

o
<

o]

Aoz Lehfi?

Mo

W77} a B 530 50% 9 o]
Tel7) kot 47ke] 20% & Felate]
72

& 2ol 471 WA
R R

D 1.8qa¢ @ 0.8¢a Y ® 14a¥

@ 12a¢ ® 0.7a Y



13. A AHolA ETste] A& xkm 2 10km THE Boi3 B 2| G714
7teg B0 20 B7F A2 Hslact A A dol|A £4tste] B
Ao T2 wj7h2] - A|7HE BAE AR A0 R e H?

r&“ X

© (1%4—20)/\12} (% %
©) (EHO)WJ (E %

® (10x + 20) A7t



14. 5%7Fx% <A

AFE200g I 57ty % A AFE 300g 2 419
o, o] 2% £ 5o Y= 239 ¥ EAE AR Ao
LHER T ?
@ (2x+ 3y)g

® (200x + 300y)g

® 60000xyg

@ (20x + 30y)g

@ 6xyg



7] FollAl &g o] WE27]= 7]20] °C ¥ wf, 24 (331 + 0.6) m
710] -15°C & |, &2 ] wr=7]E Fstoit,

O oj4

o

m/s

v
o



16. 7x—{5x+5y— (Bx—2y+1)} &3] T o, x &y O] A5 TS
ool et

D
=%



2x-9y o 1o =
e O A Pt



18. of® Ao 2x - 8y & TIsfiof t=tl ZRsiA AT Y ~5x + 3y 7}
et ol W A Ft A x A AFEa,y A AFE LT T
a—-b ] g& ot

Ela-b=



19.

th B 5402 HEA vehd 2122

DO 40-x=2 @ 40+ x = -2 @ 40-3x=2

40
@ 40x+ 3x = -2 @g—i—x:




e BAE SA02 e A 5 &

AL

rlo

@® x 9] 2Hi9] 5 & TSt A2 x 2] 3 vjoflA] 7 & W A3} Z},
- 2x-5=3x+7

@ x5 EM AL x o 2HF 2}t - x-5=2

@ AN a DA A 2 Wt 1kg ofl b ¥ & 3kg O] e
20000 o]t}
— 2a + 3b = 10000

@ <o dolrt x o AP Q] Hole 36 oIt — 4x = 36

® 100g °fl x ¥l HF] 7] 600g 2] FH-E 10000 Yot} —
6x = 10000



